Examination Practice Papers (Pearson IGCSE 9-1)
Paper 2
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211 the diagram, ABC and ADE are straight ines.

GE and B0 ao parae ey
it accurately.
Aogle BAD = 36" o

Work out the value of p and angle BDE.
Give a reason for each step in your working.

3 Al has x sweets.
Nikos had four times as many sweets as Arul
Nikos gave 6 ofhis sweets to Al
Now they both have the same number o swess.
Form an equation i x and solve i o find the number of sweets that Aru had at the stat

4 The mean height of a group of four gis s 158cm.
‘Sienna oins the group and the mean height o the five girs is 156cm.
Work out Sienna's height.

5 Plumbers' solder mix is mad from tn and lead.
The rato of the welgh of tin to the weight ofead i 1:2

‘2 Work out the weight oftin and the weight oflead in 240 grams of plumbers’ solder.
b What weight of plumbers’ solder contans 75 grams of tin?

6 2 Find the highest common factor of 48 and 180,
b Find the lowest common multipl of 48 and 180,

7 This formula s used i science, v = 247

‘2 Hanifuses the formula to work out an estimate for the value of » without using a calculator when g = 9.81

and h=082
Write down approximate valuss for g and fthat Hanif could use.
b Make g the subject o the formula ¢ = {2gh

8 a The universal set, & = (Angela's furniture}
A= (chairs) Q= {odd numbers less than 10}
8= {kitchen fumiture) st the members of the set P U Q.
Describe fully the set An B. "

Is it true that P n Q = 37 Explain your answer.
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9 Triangle POR is right-angled at R.

PR~ 47cmand PQ - 7.60m
2 Calculate the size of angle PORto 1 decimal place. T 2]
tagram
The length, 7.6cm, of PQ s cormect 1o 2 sgaificant fgures. T6em ot
476m sccurately
b Galcuiate to 3 sigifcat fgures G
1the upper bound of the length of OR 1
the lower bound of the length of Q. e @
10 A mabile phonie company makes a special ofer.
Ustally one minut of caltme costs 12 conts.
Forthe special offer,hi cal tma fs ncreased by 20°%.
 Galulate the caltime which costs 12 cents during ths special ofer
Gie your answer i saconds. @
b Calculate the cost per minutsfo the special offer @
 Galulate the percentage decreasa in the costper minute or the special ofer. 2
11 Show by completing the squar tha he equation 21 = B - 7 hassoltons 221
12 Quadrateal P s mathematcallysimiar to quadriatera .
a Calculate the value of . @
osgen
b Calculate the value of . @
yom o 15em sy
“The area of quacriatera P is 80cr. ety
¢ Calculata the aea of quacriateral Q.
Digam
43 Two chords, AB and CD, of a cirla intersect atright angles t X vor
AX=280m accuely
BX = 1.60m
ox=12em
Galiate the length AD and angle DAX corrct o 3 signficant fgures. ©
N
<
14 0ABC is a parallogram.
T = e Diagram
o
298 (2) i
Xisthe point o OB such that OX = KOB, whera 0 < k < 1 i
¢ 4

aFind, intems of £, the vectors
X WA mxc 2.22]

b Find the value of k for which AX = XC
o Prove that the diagonals o the parallelogram OABC bisect one another.
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15 a Megan invests $1200 in SafeBank earning her compound nterest at 3% per year for 5 years.
Calcuiate the value of Megan's investment afer this period.

b Liam buys a new pair of running shoes for $98 after they have boen reduced by 30%.
Calculate the orginal price of the shoes.

16 A farmer wants to make a rectangular pen for keeping sheep.
He uses a wall, AB, for one side.
For the other three sides, he uses 26 of fencing. h .
He wants to make the area of the pen as large as possible. x i
The width of the pen is x meres.
The length paralsl t the wallis (28 — 2:) metres. Frpers

The area of the pen s . Show that y = 28 - 25°
b Use calculus to find the largest possble area of the pen.

Diagram NOT accurately drawn

17 Afan s shaped as a sector of a cicle, radius 12cm, with angle

110" at the centre. Disgram
Nor
a Calculate the area and perimeter of the fan o, accurately
3 significant igures. 12 ran

Another fan s shaped as a sector of a cicle, radius rom,
with angle 120° at the centre.

Diagram
b Prove that ifthe total perimeter of this fan is 200c, ot
P accurtely
itsraivs, 7= 390 om o dran

18 ncrderto st coure, Ba s o pass a s,
e alwed oy s i 1 et P oot
T oty et o vl pas tho st i i st tmpt 2

1o fais at his frst attempt, the probabiity that he will pass. Pass
3

at s second attempt s 3

a Copy and complete the probabilty tree diagram.

b Calculate the probablty that Bas will be alowed to stat the course. -

19 Solve the simultaneous equations.
-1

2y

20 A particle moves along a .

For (2 1, the distance of the particie fom O at time ¢ seconds s & metres, where x = 3t - '+ &

'
a Find an expression fo the velociy of the partcl.

 Find at what time the acceleraton fs Om/s".

b Find an expression forthe acceleration of the partile.

21 Solve the equation (2 - 1){x-+ 1)(x +2) - (x+ 1) +2){x-+3) =
22 Show that the area of an equilateral triangie of side 4n is given by 4431
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